2050 1190 2050
183 824 (moMg) [183
B ERDEO T (%
::/7 I m::::
® @3”’ 170 || /
de} \\ /
O \\ //
@ \\\\ /////
A-AWER (1/40)
EABFX M TERTEZT,
¥ FREOFALETE. BAE
2050 | 1190 2050
i _JﬁjkBéﬂ §>J= <:9L
_ L 4L
O
=
_ L L
(@)
(@)
5 8
O — Tp)
4 i i — gf[) [B
8 A\r . B . o WA
= AL -
I 4L e
1 =i Y ° == %
b 4L é
O
=P i -
N o .F.
G.L. .X ] /LtE‘
S
™~ O
O
N

/

B

CH 38R (1/8) —

D& @R (1/8)

£ ST (1/8) (16—

FEE (1/40)

900

) ABOKxIISETH TS,

900
B-B @R (1/40

BT

9% £

B A

dp<>§> No| & # % T % il & B =
@, o B - BEAEEAT 7
1 gz y) |160X1014x1020 |HR: SHEME BEQr BB T EnERNT
(D 8 B AB0B3S
ol L3 7 [z8 0150 150X 145 | STKR400 B0 F HERATR
— : t1.6x 1000 " .
| 3 M7Vt R 000 SGH BRDo & HIBHIEE
_ 4 [Axunr-__ [t1.6x 1000 SGH Tnvo % tHEHARE
5 [EBnA- W60 ABO63S -
6 |m#n /- W65 ABO63S 2%
= AIEY, 2 EPDMA %Y Y Bff 7L - R
(39 8 [®Wt-Fyt [MI0x180 4 6% BRERY o &
9 [+7x4xy __ |M8x20 4.6 EREBRD - & +2E
10 [ FYwry ¢4 ATV VA -
ma® MR 5 A%
. _— No| & # % T % il B B ®
B 7R BERRRAH
11 |MRAZL GRAD |t64X 1940x853 | PERE: SLEME -
i AB0B3S
12 [P&ROA 33x11.5x 1963 | AB6063S. EPDM -
13 [P%:VB 33x11.5x1963 | AB6063S. EPDM -
14 [P%:0D 33x11.5x890 | A6063S._EPDM -
15 [gRAA-A _[t2 AT100P 2%
16 (&N -B_ |12 AT100P 2%
17 | 7”&y y 7 ¢ 16/ F40v L
18 | %% t4 ATYVA -
. _ 19 [Ax-%- t1 ATYUVA -
@l P 20 [ %6 RERIRD |12 ATyLa -
i 21 [yIvs-3 - [A20-4.SV Aoy 78) -
@)—{ Ll | 22 (34947 - 49746 G0y 78 -
N 25 |PERVERM (2 A7V VA EPDM -
IR 24 | k72 by i- |H52 Eps4nAt -
i 25 [WEmF2EA [ t3.2x 2000 SGH Bnho % tHENAEE
b 26 |&iE (BYM) | 60x 30x 2.3x 1955] STKR400 Tivo % +HEHHRE
(:)‘\\;m L/4:> 27 [BE (FUfD [ 60x 30% 2.3x 1955[ STKR400 Bisw o & +HERKEE
1R 28 [RIL (ABA) | 60x 30X 2.5x926 | STKR400 Bavo % +HEHHRE
[ <D 29 [ 91xy M5X 10 A7V A wnni-f
Ak }\@ 30 |4 302y M5x 15 ATV A -
Ll 3N v9ahzy M5x 15 AFYUA B (RYVED BERA
L 32 [+xh2Y - Fy b | MBX25 ATYVA HEEZA
I'e 33 [RBFN I M8X 50 A7V A WIE. BE mER
L 34 | REEV-N |24 PET. PP KL
G (]t ! 3515029 [M4x8 A7YLA P41 VB REEH
[ l_ N2V OSERESTEEBRL : 400HZI ML T25dBM £, 1000Hz # L T 30dBM L0 ER & %% T
e it (MGHERE. HRDLOFEREBT2HENHY ET, JTESLIO, )

FEAEEAN (1/8)

FEz AR (1/8)

A-ABTHBE (1/8)

CxAAAE TV A BESHL UIEPS—4H

FE ESES 5947
KFTH00482

#5000

VUNE RS 1)




